
Multi Power Cylinder   Spare Parts List MZR 40 
 
---- 

Subject to technical modifications. 24.02.2015 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts     

Pos Part-No. Quantity Description Type Flag
1
 

10 251432 1 cylinder head MZR 40  

20 251433 1 cylinder bottom MZR 40  

30  1 cylinder tube depending on stroke  

40  1 piston rod complete depending on stroke and design  

50 251440 1 supporting plate MZR 40 R 

60 251441 1 piston MZR 40  

70 251452 2 clamping lever complete MZR 40 R 

90 251458 1 guide ring MZR 40 RD 

100 251459 1 buffer MZR 40 RD 

120 251463 2 guide bolt MZR 40  

170 238920 2 hexagon socket head cap screw M 4 x  14  DIN 912  

190 200999 2 parallel pin 5,0m6 x  24  DIN 7  

200 251462 4 set screw  M 3 x  10  DIN 914  

210 231101 2 o-ring 42,00 x 2,00 RD 

220 225779 1 scraper 25/33,0x 7,00/4,0 RD 

230 238624 84 mm guide band 4,0 x 1,55 RD 

240 209983 118 mm guide band 5,6 x 2,50 RD 

250 251484 1 lip seal  Ø 25/33 x 7,0 RD 

260 225777 1 piston seal Ø 40/Ø 29,0 x 4,2 RD 

350 234787 2 USIT-ring 4,5/7,0 x 1,0 RD 

spare parts sets / accessories   

Pos Part-No. Quantity Description Type  

 277381 1 repair kit MZR 40  

 277382 1 seal kit MZR 40  
 

1
 R = included with repair kit, D = included with seal kit 

 

 

 



Multi Power Cylinder   Spare Parts List MZR 63 
 
---- 

Subject to technical modifications. 24.02.2015 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts     

Pos Part-No. Quantity Description Type Flag
1
 

10 253216 1 cylinder head MZR 63  

20 253238 1 cylinder bottom MZR 63  

30  1 cylinder tube depending on stroke  

40  1 piston rod complete depending on stroke and design  

50 253245 1 supporting plate MZR 63 V R 

60 253246 1 piston MZR 63  

70 253252 2 clamping lever complete MZR 63 R 

90 253257 1 guide ring MZR 63 RD 

100 253258 1 buffer MZR 63 RD 

120 253259 2 guide bolt MZR 63 R 

170 200221 2 hexagon socket head cap screw M 8 x  25  DIN 912  

190 253260 2 bolt MZR 60 R 

200 253269 4 set screw  M 4 x  16  DIN 914  

210 275384 2 o-ring 66,00 x 2,00 RD 

220 212299 1 scraper Ø 40 / Ø 48 x 4 RD 

230 209983 126 mm guide band 5,6 x 2,5 RD 

240 209983 183 mm guide band 5,6 x 2,5 RD 

250 212579 1 lip seal  Ø 40 / Ø 50 x 7,3 RD 

260 253265 1 glide seal kit Ø 63 / 50,5 x 5,6 RD 

350 232497 2 USIT-ring Ø 8,7 x 13,0 x 1,0 RD 

spare parts sets / accessories   

Pos Part-No. Quantity Description Type  

 353749 1 repair kit MZR 63  

 353751 1 seal kit MZR 63  
 

1
 R = included with repair kit, D = included with seal kit 



Multi Power Cylinder   Spare Parts Drawing MZR 40, 63 
 
---- 

Subject to technical modifications. 24.02.2015 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 
 
 


